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Control

Points
Number
11 10  Vegetation Boundary
12 10  Between the hedges
13 10  Path NW end
14 10  Ditch, ditch junction
15 10  Thicket N side
21 20  Path, ditch crossing
22 20 Bridge
23 20  Northern ditch junction
24 20  Earthwall Wend
25 20  Clearing
26 20  Thicket S side
27 20  Spur
28 20  Path crossing
30 30 Pond SE corner
31 30  Earth bank foot
32 30  Path, ditch junction
33 30 Thicket E side
34 30 Clearing
35 30  Small depression
36 30  Path, ditch crossing
37 30  Western depression
38 30  Pit (overgrown)
39 30 Earthbank foot
41 40  Spur
42 40  Thicket W side
43 40  Bridge
44 40 Tree (broad leaved)
45 40  Small depression
46 40  Northern small depression
51 50  Ditch
52 50 Rootstock



